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IS-MBA — DDCE -
101 (MCP)R& B

2016
Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section-A

Answer any three of the following : 12x3 = 36

1. “Management is a continuous process attaining
the organizational goal in a systematic manner to
satisfy the need of its users.” Discuss.

2. What are the contributions made by Henry Fayol ?
Give your view point whether these principles can
be applied in the modemn organization.

3. Define MBO. Discuss the objectives and process
of implementation of MBO in an organization.
Why MBO fails ? '

PR-1/1 (Tum over)
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I-S-MBA-DDCE-102-(BRFW)R & B

2016
Full Marks- 70

Time -As in the Programme

The questions of equal value

Answer THREE|questions from Group-A & B and TWO
Jrom Group-C as per the word limits mentioned.

|
Group-A(700-1000 words)
Each questions carries 12 marks

1. Discuss the rule of considertion with essential
elements. State the exception to the rule of
consideration.

- OR
Explain the essential features of Foreign
Ej{change Management Act.

2. "Acceptance to offer is just like a lighted match
to a train of gun power" Explain.

[ Cont...



€% M IAED)-T01-HO(d-VEN-S-]

Kyiuwrapuf Jo 10enuo)
JOWINSU0D SUYd
eunguiy, ajefjaddy 1004

SyIeul ¢ soLued suonsnb yoeg

(SPIoM (0Z-0S1) D-dnoxd

"]V JudINYSU] 3jqeno3aN.

Iapun louoysip jo sadA} ay) uredxyg ¢

JUSLUNLSUL JO JOUOYSIP AQ UBdW NOA Op 1BYM
d0

19[|3S predun 3y Jo 1y3L 3y} SSnasi(q

‘0002 10V A80j0Uyd3], HoNRULIOJU]

59Ul JO SaInjedj [RIIUASSY 9Y) SSNISI]
q0

| "SJUALID]D [BIUISSI SH SSNOSI(Y

"]V 19BIU0)) URIPU] JOpuUn 29juerens aunjo(y

€l

U0 |

"J0Y U01109101d
JoWNSUO)) Idpun wniloj JOLISTP 9y} JO
suonouny pue siamod ‘vonisodwoo sy urejdxy

d0
“JUSUI[TRq JO JOBIISUOD 31} Jopun
99[1eq JO sannp ay) ure[dxy ‘Jusuijeq suygaq

SYIBW § SOLLIBD suosanb yoeq

(SpI0A (0S-007) d-dnoId
| $OISLIAYORIEYD
[BLJUSSSS UIIAM JUSINIISUL d[qerjodau jo
sad£) oy urepdxq yuswunysul A[qeno3au ugo(
d0
*-103duIo JE9ARD JO S[NI 330} suondaoxa oy
ssnoSI(] ¢, 101dwd JeaAed Aq ueaw oK Op JBYM
| *9[31) AUB JNOYIIM PILIdSUuRH 3q
ues spoos ur A11adoxd oy} uayM SIOURISUINIILD
oy ure[dxd ¢ 0€61 IOV SPOOD JO 9[ES Y
Jopun o Jo 19Jsuen} £q ueswr nok op JeYMm
d0
[z]



IS-MBA — DDCE -
103 (FA)R&B

2016 )
Time : As in Programme
Full LMarks 170
The figures in the 'right-hand margin indicate marks.

Answer from all the _‘Sections as directed.

Section-A

Answer any three questibns of the following : '
12%3 = 36
1. Prove that the accounting equation is satisfied in
all the following transactions. Verify the resuit by -
_preparing Balance Sheet :

() Laxmi Priya commence business with :
Cash — 20,000
Goods — %12,000
Machine — ¥ 8,000

(i) Purchased goods ¥ 5,000 -

PR-2/5 ' (Tum over)
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IS-MBA — DDCE -
104 (QMM)R & B

2016

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks:

Answer from all the Sections as directed.

Section - A

Answer any three questions of the following :
12x3 = 36

1. Define statistics and explain the scope of
statistics. Also explain what their limitations are.

2. A manufacturer produces two types of models X
and Y. Each model of the type X requires 4 hrs of

- grinding and 2 hrs of polishing ; whereas each °

| model of the type Y requires 2 hrs of grinding and

5 hrs of polishing. The manufactures have

2 grinders and 3 polishers. Each grinder works

40 hrs/week and each polisher works

PR -3/1 (Turmover)
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ST

5. Solve t'he tnanspoﬂatlon problemwﬂh VAM
method ;.

Fromlto A B ¢ Factg,ly Capacity
CDEESU € a0 WD 10
E 8 4.8 ¢ oniBOy
F 9 7 5 30
WarchouseReq. 30 20 20 70
~ Section-C

Answer any two questions of the following :
/ ; ; 5%2=10

1. What are the limitations of statistics ?

2. How many ways four different stiidents sit on four
chairs if it is arrange in a straight line ?

3. What is the median of the following marks
obtained by six different students ?

Marks : 20, 85, 65, 47, 38, 45
4. Whatis Bayes rule in probability 2

- 3%

PR - 3/1 (600) (4)  ISMBA—DDCE -
1k ) i 104 (QMM)R & B



ISMBA — DDCE -
105 (HRM) R & B

- 2016
Time : As in Programme’ '
'Fuﬂ Marks : 70 |
The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section - A

Answer any three questions of the following :

12x3 = 36

1. Discuss the main functions, duties and
responsibilities of a human resource manager in

a modem industrial organization.

2. ‘“Failure in planning and developing HR could be
a imiting factor in attaining organisational goal.”
Explain the statement in reference to the

objectives and process of HR planning.

PR-4/1 (Tum over)
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IS-MBA — DDCE —
106 (MM) R & B

2016

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section-A
Answer any three questions of the following :

12x3 = 36

1. What is the importance of marketing for the
success of a business organisation and what are
its important functions ?

2. What are the behavioural forcés that influence
buyers buying decision process ?

3. What is the relevance of product life cycle and
what is the marketing-mix decision in each
stage ?

PR -5/3 (Tum over)
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IS-MBA — DDCE -
107 (FM)R & B

. 2016

Time : As in Progrmme

Full Marks : 70

The figures in the ﬁght-hand margin indicate marks.
An:s‘vzl}ér from all the Sections as directed.

Section—A
Answer any three of thefollowing: 12x3 =36
1. Thefinance manager of XYZ Ltd. has to advise
the Board of Directors on choosing between two
competing proposals which require an equal

investment of rupees one lakh and are expected

- to generate cash flows as under:

“Year Project—1(Rs.)  Project—Il (Rs.)
2 32,000 24,000

PR -6/1 (Turm over)
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IS-MBA — DDCE —
108 (OB) R & B

2016

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section - A

Answer any three of the following: 12x3 =36

1. What are some of the major environmental
challenges facing today’s and tomorrows
organizations and management ? Briefly describe
the development of OB.

2. Discuss different methods of personality
measurement. What are the personality traits
that affect human behaviors at workplace ?

3. “Most behaviors are learned, some from the
experience of the self and some from the

PR-71 (Tumover)
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12. How does personality reIated to orgamsatronal
behavror ?

13. What is an Attitude ’7 What are the three
characteristics and three oomponents of attltude ?

14. What do you mean by Intrmsrc Reward '? How
does it d|ffer from extnnsrc reward 9 P L
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